Unit 2: Reasoning with Linear Equations and Inequalities  Name:

Solving and Graphing equaltizes

Solving an inequality is very similar to solving an equation. The main
difference is that we have an inequality symbol instead of an

Fxcmples 1,7, & 3. Solve the following inequalities. Graph each solution.

Hp+7<13 2)t-14 = -6 3) 5y < 20

}
%

Try these: Solve the following inequalities. Graph each solution. Show all work!

4)3m < -12 5)z-(-6) > 2 6) ¢c/2< -7

< > < > - >
A Special Gase, When multiplying or dividing by a number, you
must in order to keep the inequality

Reverse
the sign!

e _

Suppose you start with the
true statement: 2 < 3,
Now, multiply both sides
by negative 2, for example.

Example: Solve: —4n > 24
What did you get?
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Unit 2: Reasoning with Linear Equations and inequalities  Name:

INEQUALITIES

Inequalities Review

Which number is a solution of the inequality?

L. —626y
a |1 b. -1 c. 36 d. 8
2. 8x+2218
a. 2 b, -2 c. 0

Write an inequality to model the sitnation.

3. Thomas earned $44 or less.

a. t>44 b. <44 c. t<44 d >4
4, A number exceeds 53,

a. I’ISSS b, n<355 c. n>55 d. n>55

Write a compound inequality that represents each situation. Graph your solution.

5. all real numbers that are greater than —4 and less than 4

a. —4<x<4 c. 4<x<4
} * »—t—— e e ——
8 6 4 2 B 2 4 & 8 36 4201468

b, 4<x<4 d 4d<x<4
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a. 9<x<1 e. O92>2x=>1
S S Co i)
b. O<x<1 d 9>x>1
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Unit 2: Reasoning with Linear Equations and Inequalities  Name:

Solve the inequality. Then graph your solution.

7. x+42=2-6
9 ~X<8
4

Solve the inequality. (4 points each)

11. 4—6y>5(y+3)

13. 5(w—3)=30

8. r—3<4

10. -3x+8>-1

12. 4x+2<22

14. 14x—-8<-2x+24

Multiple Choice: Identify the choice that best completes the statement or answers the question.

Solve the inequality. Then graph your solution.

15. -12<2x -4 <1(

a. - D<x< 9
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16, -5<2x-9<13

a 2<x<I1l c. —-le<x<2
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b, —7<x<2 d 2<x<20
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Write a compound inequality that the graph could represent.

17.

L] 1 LY
T ¥ 7

3 4 35

Lo}

. D <x<4 ¢ x>dax<?2

b G<x<? d 4<x<2

8. <-'5—'4:§-=3-:11:Jii;:155
a. g<-S5agqg=3 c. 5<g<3
b. g>-3arg<5 d g<-3aqgz=3
Short Answer

19. Your class hopes to collect at least 325 cans of food for the annual food drive. There were 141 cans donated the first
week and 148 more the second week.

a. Write an inequality that describes this situation. Let ¢ represent the number of cans of food that must be collected
by the end of the third week for your class to meet or surpass your goal.

b. How many cans are needed to meet or surpass your goal?

20. The French club is sponsoring a bake sale. If their goal is to raise at least $150, how many pastries
must they sell at $3.00 each in order to meet that goal? Write and solve an inequality.

21. Tina can type at least 42 words per minute. Write and graph an inequality to model this situation.
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